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ELoxywyn

» H évvolX TNC OTXTLOTLKNC YLX TOV XTTAO

xXvOpwTro:
> TTOALTIKEG dDNUOOKOTINTELG (TT.X. TO X KOMMX
TIPONYELTHL KXTX Y TTOOOOTLXLEC MOVXOEC XTTO TO
/ KOMUX)

> KOLVWVLKO-OLKOVOULKEG EPEVLVEC [TT.X. OL ‘EAANVEC
epyxCovTtal 5,5 wpec TreplocoTEPO KXOE
EBOOUXOX O€E OXEON ME TOLC ELpWTTLOLC (KT
UECO 0p0)]

- 'EPEVVEC LYELXC (TT.X. Ol YUVKLKEC TTOU
KXTXVXAWYOULV KPXOL OLXTPEXOLV 44% XXUNAOTEPO
KLVOUVO XXTTO KXPOLXYYELXKX VOONUXTX OE OXEON
ME yUVO('LKeg TTOU OEV KXTXVOXAWVOULV KXBOAou




'EVVOLEC, OPLOMOC KL KUPLOL KAXOOL

» 2TXTLOTLKEG EVVOLEG OTX TTPONYOVMEVX
TTXPXOELYMXTX:

o TTepLypadn-ZuvoPrn XTTOTEAECUXRTWY KTTO EVX OELYMX TOU
TTANOuvouoUL

°© EKTIMNON TTXPXUETPWV-CUOXETLOEWY KXL CUMTTIEPXOMXTX
YLX TOV TTANOuouO

» ETTLOTAMN TTOU ETTLXELPEL VX EEXYXYEL EYKUPN YVWOTN
XPNOLUOTTOLWVTXC EMTTELPLKX OEOOMEVX

» AVTLKELMEVX EPELVXG: TUAAOYN, ETTEEEPYNOLX,
TTXPOVOLXKOT]), KVXAUCON, EPUNVELX DEOOUEVWIV UE

OTOXO TNV € aywyn CUMTTEPXOTUXTWYV 1N/KXL ANYn
XTTOPXOEWV

» KOpLol KAOOL OTKTLOTLKNC:
- TTepLyp oLk OTKTLOTLKN
. EKTLMNTLKNA /ZUUTTEPXOUXTOAOYLX




MTAnGvoUOC-AELYUX

Y




MTAnOuvopoc-Aelypu

» @ewpnTLkOoC TTANBLOoUOC (theoretical /target
population): xvTolL oTouc oTToLlovC BEAOVLE
VX YEVIKEDOOUME TX OUMTTEPXOMXTX MXC

» O TTANOLVOMOC TNC MEAETNC (study
population): xuTOL OTOLC OTTOLOUC EXOLME
TTpooBXON

» AELYMXTOANTITLKO TTAxLOLO (sampling frame):
O TPOTTOC ME TOV OTTOLO XTTOKTOUME
TTpOooBXON

» Aelypx (sample): xuTol TTOU
OUMTTEPLAXMPXVOVTOL OTN MEAETN




STOHOLX MLOC TUTTLKNCG MEAETNC

» OpLOPOC EPELVNTLKOU EPWTHMXTOC

» Kk@oplopocg TtTAnBuouou

» AELYHXTOANWLKX

» TTepLypxdpn/oovoypn XXpXKTNPLOTLKWY OTO
OELYMX

» TTEPRLTEPW OTHTLOTLKN XVXALON

» EExXywyrn CUMTTEPXOTUXTWY YLX TOV
TTANOuvouo

» TTXPOLOLXON-2XOALXOMOC XTTOTEAECTUXTWYV

KXL OUMTTEPXOUXTWYV




2TATIZTIKH

~

MepLypdpLkn OTKRTLOTLKN:
> UVOTITLKIN TTXpOLOLXoN
OEDOUEVWV

TT.X.
‘Meox eTriTtedx CD4 o€ evix
TTANOLGUO evnAilkwyv HIV+
[Tooco0TO BEPXTTELOMEVWV
HIV+ PE U XVLXVELOLUO
dbopTLO

STHTLOTLKN OUMTTEPXOMXTOAOYLKX:
S UVXYWYH OCUMTTEPXOMXTWY YLX TN
OXEON TI.X. MIXC METXPANTNC ME
MLOX XAAN

TT.X.
- ALXDPEPEL N XVTRTTOKPLON OTN
DeEpXTTELX XVXAOYX UE TOV UTTOTUTIO
Tou HIV;

- MeLwbnkotv TX TTOOOOTX
KXxOLOTEPNUEVNC DLXYVWOTNG MEOKX
oTNV TEAELTXLX 10-€TLX;




TepLypXPpLKN OTATLOTLKN

MeToBANTEC
TTOLOTLKEC \
(t1.X. PONO, Opxox :
KLVOUVOUL KATT) TOCOTLKEG
(HAwkLx, BMI,
CD4 count, Viral load
KATT)

P



[ToooTLkEC METHPANTEC (METPX
OeEonc/oLXoTTOP X C)

Mean (SD)
Age 43.4 (11.4)
CD4 count (cells/microlL) 639.5 (337.1)
Median (IQR)
Age 42.4 (34.8, 50.3)
CD4 count (cells/microL) 604 (418, 822)




Different Means
Same Standard Deviation

Same Mean
Different Standard Deviations

Different Means
Different Standard Deviations




Figure 1
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[TOLOTIKEC METOHPANTEC

N (%)
Risk group

MSM 2722 (55.4)

VDU 435 (8.9)

MSW 1130 (23.0)

Other 40 (0.8)

NA 583 (11.9)

Total 4910 (100.0) 8

Risk group

I vsv I VDU
I vsw [ Other
I NA
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Epwtnon 1 » K&Trolx TToooTLKN
METXBANTN EXEL OTO

OELYMX MXXC TNV
KXTXVOMN TTOLU PXLVETXL
XPLOTEPKX.

» TLOX XpNOLUOTTOLOVONXTE
YL VXX TNV TTEPLYPXYPETE;

oL I x x - A) Mean (SD)
X - B) Median (IQR)
> ) N(%)




EpwTtnon 2

» H kxtxvoun Twv CD4 o€ evx OELYM XX EXEL
median (IQR) 604 (418, 822) cells/uL
» AV OXC EAEYXV OTL 27% TWV XTOMWYV TOU
OELYMXTOC elxxvy CD4<350 cells/pL
> A) O oxXC PXLVOTXV AOYLKO
> B) 'Oxt, B TTEPLUEVXTE TO TTOOOCTO XUTWV ME
CD4<350 cells/uL vt €LVt MLKPOTEPO XTTO 27%

> ) 'OxL, OX TTEPLUEVXTE TO TTOOOOTO XUTWV ME
CD4<350 cells/uL vt €lvt HEYXAUVTEPO XTTO 27%




EKTLUNTLKN: XTTO TO OELYMX OTOV
TTANOLoUO

» Tx METpX BEONC (KXL OLXOTTOPXC) N T
TTOOOO0TX MLXC KXTNYOPLKNG METXBANTNC
MXC OLVOULV TTANPOPOPLEC YLK TO OELYMX
» QOTOOO:
> H MEON TLUN MLXC TTOOOTLKNG METXBANTNC OTO
OELYMX ELVXL (LTTO TTPODTTOBETELC) MLX «KXAN»
EKTLMNON ™G MEONC TLMNC TOL TTANOLGUOUL

> T TTOOOOTX MLOXC KXTNYOPLKNG OTO OELYMX ELVXL
(U1TO TIPOUTTO0ETELC) «KXAEC» EKTLMNOELC TWV
O(VTLOTOLXU)V oTOV ﬂ)xneucruo

» OL EKTLIJI’]O'ELQ EXOLV TTXVTX XPEPXLOTNTX
KXL XUTHN TTPETTEL VX ONAWVETXL - 95% A.E.
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KXtTotvoun MEONC TLUNC
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MTXPHOELYMX T YLX OLXOTAMXTX
EMTTLOTOOLVNC

L e Seinean | sl
180.1 166.8-193.3

100 195.5 4.4 186.7-204.4

500 190.9 2.0 186.9-194.9
1000 188.8 1.4 186.0-191.6

Standard Error of the mean = SD/+/n
95% C.l.: mean=1.96*SE




EpwTtnon 3

» 'EXOUME OVLO EVTEAWC TUXXLX OELYMXTX A KXL B
XTTO EVXV TTANOLOMPO, HE NEYEDOC OELYMXTOC
Nx=100 kott NB=400, xvTioTOLXX. EKTLMOUUE TO
MECO KXTTOLXC TTOOOTLKNCG METKPANTNC XTTO
XUTX TX OELYMXTHX.

» TTEPLMEVETE TO TTAXTOC TOL 95% AlXxOoTAMXTOC
EUTTLOTOOUVNC YLX TO NECO VX ELVXL:
> A) TTepittoL 4 POPEC MLKPOTEPO OTO DELYMX B
> B) TTeptttov 2 $OpEC ULKPOTEPO OTO OELYMX B
> ) TTepLTTOL TO LOLO KXL OTX OVO OELYMATX
> A) TTeptlttov 2 $OpPeEC NEYXAVTEPO OTO OELYMX B
> E) TTepittoL 4 POpPEC MEYXAVTEPO OTO dELYMX B




STHTLOTLKN CUMTTEPXOHAKTOAOY LKX

» 'EANEYXOC LTTOBETEWY
° T.X. olXdepouvv TX CD4 KXTX T OLXYVWOTN HETKEL
XVOPWYV KXL YUVXLKWV;

» Mnoevikec vttoBeaelc (Ho)
° H peon tTwun Twv CD4 oTtov TTANBLOUO TwyV |
VEOOLXYVWOOEVTWYV ELVXL LOLX YLX XVOPEC KXL YUVXLKEC

» TEVLKOC TPOTTOC EAEYXOU (KAXOLKN OTXTLOTLKN)

> 'EoTw OTL LoxveL n Ho (dtx CD4 o€ xvdpeC YUVXLKEG).
Mol N TMOHXVOTNTH VX dW), EK TUXNG, dDLXPOPEG TRV KL
O(UITEC_, TTOU EXW OTO OELYMX MOUL (1 MEYXAUTEPECQ): p-
value

> Av p-value < 0.05 => xmmopplmtTw HO KXL XTTOOEXOM XL
TNV EVXAAXKTLKN (Ha) onAodn ot Tox CD4 xvdopwv
OLXPEPOLV XTTO XUTX TWV YUVXLKWY 0TOV TTANOLOUO
TWV VEOOLXYVWOOEVTWYV




>POANXTX TUTTOUL | KXt |l

» ZOXAMX TUTTOU | () N XTTOPPLYN TNG UNOEVLKNG
LTTOBEONC EVW XLTR LOXVEL
> AEXOMXL OTL N BepxTTELX A LTTEPTEPEL TNC B evw oL

DepXTTELEC ELVXL LOODVVAXMEC

» ZhaAux TOTTOL Il (B): N *XTTOdOXN TNG MNOEVLIKNG
LTTO0EONC EVW XLTN DEV LOXVEL
> AEXOMXL OTL oL Bepaxtreiec A kXL B d€ dLxpepouv evw n

A vTrepTtepetl TNg B (N To axvtioTpodo)

» loxucg (Power=1-B): H TiBxvotTnTX Vox
XTTOPPLPW TN MNOEVLKN LTTOOEON OTXV XUTN OEV
LOXVEL
© METPO TNG LKAVOTNTRG MLXG MEAETNG VX XVLXVEVLJEL ULX

TIPXYMXTLKN dLXdopX/OoXEON (EVTOVOTEPN XTTO KXTTOLO
EAXXLOTO «KALVLKX ONUXVTLKO» ETTLTTEDO)




>XETLKX ME TX p-values

>

T p-values d€ev dLvOUV KXTTOLX TTANPODOPLX OXETLKX
ME TNV EVO()\)\O(KTLKI’] vTTo0€eaon (TT.X. LTTXPEN
TTPXYMUXTLKNG dLXPOPXG/TXETNC)

To p-values deilxvouv Tn CLUPARTOTNTX TWV OEOOUEVWIV
ME TN MNOEVLKN LTTOBEON

STXTLOTLKN ONUOVTLKOTNTX # KALVLKN ONMXVTLIKOTNTX
Me HEYXAX MEYEDN OELYMXTOC MTTOPOUME VX
XTTOPPLPOUVHE OTTOLXONTIOTE LTTOOEON

To p=0.049 do€ dLxdpepeL LLXLTEPK XTTO TO p=0.051

FUVIOTRTOL TIRVTO: CUVUTTOAOYLOHOG dLXOTNUATWY

euTrLO'Tocruvng, OXEOLXTMOU ueAETnc_,, TTPONYOULMEVNC
Yvwaonc, Bto}\oyu«»v MNXXVIOMWY, XTTOTEAECTUXTWV

XAAWV OXETLKWV HEAETWV ..



TUOTTLKX TTPXOELY M X T X
«OLOXETLOEWV» TTPOC dLEPELVNOT

b ALO(CI)E'£00V TX ETTLITEON MLXC TTOOOTLKNG
METXPANTNC METKREDL OVO N TTEPLOCOTEP WV
OMXOWV;

o (CD4 ~ ®UA0o)

» ALXPEPEL N KXTAKVOUN MLXC TTOLOTLKNC
METXPANTNC O€ OVO 1N TTEPLOCOTEPEC OMXOEC;
o (HIV subtype ~ Ouotdo ktvoéuvou)

» H ®kbEnon pLxg TToooTKNG HETXPBANTNG
OUVOEETXL ME XLENON (N MELWOTN MLXC XAANC);
o (emmiredor XoAnoTepoAng ~ etn Anwnc Beparreioc)

» ALXPEPEL N TTLOXVOTNTX TTRPOLOLXC KXTTOLOU
XXPXKTNPLOTLKOU METKED OMXXOWV I';\O(V'(SO\OYO( LE
TX ETTLITEON MLXC TTOOOTLKNG METXBANTNC
o (/(oz@uaTep/r\yuévn olxyvwon ~ Tpormmoc UueTxdoong,

nAtkiex, pUuAo, eToc dtxyvawaong)
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>UVNOEeLC TpOTTOL XVXALONC
Zooxérion

[ToooTkn ~ KaxTtnyopukn (2 eTTLTTEOX) t-test (Mann-Whitney U-test)

[ToooTkn ~ Kaxtnyoptkn (n eTTLTTEOX) One-way ANOVA (Kruskal-
Wallis tes?

[MoooTkn ~ TTooOTLKN Pearson (r) / Spearman (p)
correlation

[TogOTLKN ~ TTOOOTLKEC KXL KXTNYOPLKEC Linear regression (median

METXPBANTEC regression)

[ToooTLKN ~ TTOOOTLKEG KXL KXTNYOPLKEC Mixed (random effects) linear

METXPBANTEC (ETTXVXAXUPXVOUEVEC UETPNOELC) models

Kxtnyoplkn ~ Kxtnyoplkn Chi-square test (Fisher’s exact)

ALTLMN KXTNYOPLKN ~ TTOOOTLKEG KXL Logistic regression

KXTNYOPLKEC METXKBANTEC (conditional logistic regression
o€ matched-case control
MENETEQ)

Xpovog ewg epdaxvion event ~ Kxtnyopukn Log-rank test, Kaplan-Meier

Xpovocg ewcg epdaxvion event ~ NMoooTikeg kxt  Cox models
KXTNYOPLKEC METXPANTEC

RN NN




SUYXUTLKOL TTXPXXYOVTEC

HALKLX

/N

Eldoc OepxTTeELlXC AVTXTTOKPLON

TNV TTLO TTXVW TTEPLTTITWAON N NALKLX MTTOPEL VX dp X WC
OLYXUTLKOC TIXPXYOVTXC OTN OXEOT OEPXTTELXC-
XVTXTTOKPLONG XV OXETLCETNKL ME TO ELOOC TNC DEPXTTELXC KXL
TRUTOXPOVX ELVOL XVEEXPTNTOC TTPOYVWOTLKOC TIXPXYOVTXC
YLX XVTXTTOKPLON




MpROELYUXRTX KXTELOLVONC
OUYXUTLKOU OPXAUXTOC

- >0YKkpLon Bepatretwyv A kxt B (EkBeon)
-'ExkPpxon: mOxvoTtTnTX 5-€TOLC ETTLRLLWONC
+ SUYXUTLKOC TTXPXYOVTHC: NALKLX (XXMNAOTEPEC TTLOXVOTNTEC
ETTLRLLWONG TE TTLO NALKLWMEVOULC & N DEPATTELX A ETELVE VX DLVETXL O€

TTLO NALKLWMEVOUCG)

TTpXYUXTLKN) OXEON:
A XTTOTEAECUNTLKOTEPN TNG B

TTpXYUXTLKR OXEON:
A Lo0dU0voun TNG B

TTpXYUXTLKR] OXEON:
B XTTOTEAEOUNTLKOTEPN TNG A

Oepatreix A | Oepuxtreick B Oepatreix A | Oepuxtreick B Oepatreix A | Oeputreick B
Méon nAlkix | Meon nAtkic Méon nAlkix | Méon nAwkic Méon nAlkix | Meon nAwkic
60 €Tn 45 €Tn 60 €Tn 45 €Tn 60 €Tn 45 €Tn
EmriBlwon EmriBlwon EmriBlwon EmriBlwon EmriBlwon EmriBlwon
70% 70% 50% 70% 30% 80%

SUUTTEPXOM: SUUTTEPXOMX :
A 1o0d0voun ue B B XTTOTEAEOUATLKOTEPN TNG A .
2ZUUTTEPOUK :

(PeLdWC aPVNTLKO EVPNMUX)

(Yevdwg BeTLKO ELPNUX)

B XTTOTEAEOUXTLKOTEPN TNG A
(0pOn kxTeLOLVAT XANKX
VTTEPEKTLNON TNG LTTEPOXNC TNG B)



EpwTtnon 4

» EVOLXPEPOUKOTE VX DLXTTLOTWOOUUE EXV N
NALKLX TWV VEodLxyvwobBevTwy HIV+ nTav
OLXPOPETLKN YL TO otxoTnuax 2005-09 ge
OX€EON MWE TO oLxoTnuX 2010-15 kot oLxBeTovHE
KVTLOTOLXX TUXOLX OELYMX T LKXVOTTOLNTLKOU
MeEYEBOULC

» TL eAeyxo/povTeENO/uEBOOO B
XPNOLUOTTOLOVOKME YLX VX XTTXVTN|OOUHE OTO
TTLO TTXVW EPWTNHK;
> A) Chi-square test
- B) Pearson correlation coefficient
> ) t-test (OLO XVEEXPTNTWYV DELYURTWV)
> A) Linear regression




EpwTtnon 5

» EVOLXPEPOUKOTE VX DLXTTLOTWOOUUE EXV N
NALKLX TWV VEodLxyvwobBevTwy HIV+ nTav
OLXPOPETLKN YL TO otxoTnuax 2005-09 oe
OXEaN ME TO dLxoTnux 2010-15, exovrag
OTXOULOEL YLX TTLOXVEC XAAXYEC OTNV KXTXVOUN
TNG OUXONC LETRDOONC OTX dV0 dDLXOTHUXTX

» TL eAeyxo/povTeENO/uEBOOO B
XPNOLUOTTOLOVOKME YLX VX XTTXVTN|OOUHE OTO
TTLO TTXVW EPWTNHK;

A) Chi-square test

B) Pearson correlation coefficient

) t-test (DLO XVEEXPTNTWV DELYMXTWYV)

A) Linear regression

(0] o (e] o




Student’s t-test

Vorume VI MARCH, 1908 No. 1

BIOMETRIKA.

THE PROBABLE ERROR OF A MEAN.

By STUDENT.

Introduction.

ANY experiment may be regarded as forming an individual of a “ population”
of experiments which might be performed under the same conditions. A series
of experiments is a sample drawn from this population.

Now any series of experiments is only of value in so far as it enables us to form
a judgment as to the statistical constants of the population to which the experi-
ments belong. In a great number of cases the question finally turns on the value
of a mean, either directly, or as the mean difference between the two quantities.

If the number of experiments be very large, we may have precise information
as to the value of the mean, but if our sample be small, we have two sources of
uncertainty :—(1) owing to the “error of random sampling” the mean of our series



t-test (NAtkiot ~pULAo)
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t-test (2 xveExptTnTWV
OELYHOXTWV)

Two-sample t test with equal variances

Group | Obs Mean Std. Err Std. Dev [95% Conf. Interval]
_________ _|_____________________________________________________________________
Male | 576 48.86173 4875729 11.70175 47.90409 49_.81937
Female | 554 46.48874 -5116005 12.04165 45.48382 47 .49365
_________ _|_____________________________________________________________________
combined | 1130 47.69833 3547043 11.92355 47.00238 48.39429
_________ _|_____________________________________________________________________
diff | 2.372993 7063325 -9871198 3.758866
diff = mean(Male) - mean(Female) t = 3.3596
Ho: diff = 0 degrees of freedom = 1128
Ha: diff < O Ha: diff 1= 0 Ha: diff > 0
Pr(T < t) = 0.9996 Pr(JT] > Jt]) = 0.0008 Pr(T > t) = 0.0004

H nAtkic dlegpepe OTHTIOTIKX ONUXVTIKX
(0<0.001) uetoév avdpwv kot yovetkwyv. Ol
OVOPEC EIXXV KXTX WECO Opo 2.37 (95% A.E.
0.99 - 3.76) €Tn UEYXAUTEPN NALKIX.




One-way ANOVA (NALKLX ~OHXOX

METXOOONC)

Mndevikn vTToBeon
Hoo My=H=M3
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One-way ANOVA

| Summary of Age

Risk group | Mean Std. Dev. Freq.
____________ _|_____________________________________
MSM | 41.955144 10.67977 2722

1vVDU | 35.905434  7.7130766 435

MSW | 47.698332 11.923553 1130
____________ _|_____________________________________
Total | 42.855116 11.290933 4287

Analysis of Variance

Source SS df MS F Prob > F
Between groups 49720.4693 2 24860.2347 214 .43 0.0000
Within groups 496680 .959 4284 115.938599

Total 546401.428 4286 127.485168

Bartlett"s test for equal variances: chi2(2) = 103.7463 Prob>chi2 = 0.000

H nAtkic dlepepe OTHTIOTIKX ONUXVTIKX
(p<0.001) uertoeév Twv TPLWV ouXdWV
UETKOOOTC.




>VoXeTLon (correlation) ke
EEXPTNON/TIXALVOPOUNOT
(regression)
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r — ' Pearson’s r=0.208,
2 2
(Z Xi) (Z Yi) p<0.001
2 i 2 i
(E: Xi o I )(25 Yi B __L_____)
i n i n
Y=b,+b,*X+€
XoAnoTtepoAn=b, + b,*ETn ART +¢€
Source | SS df MS Number of obs = 3334
————————————— Fomm F( 1, 3332) = 150.08
Model | 243813.922 1 243813.922 Prob > F = 0.0000
Residual | 5413197.17 3332 1624.60899 R-squared = 0.0431
————————————— B Adj R-squared = 0.0428
Total | 5657011.09 3333 1697.27305 Root MSE = 40.306
chol 2013 | Coef. Std. Err. t P>|t| [95% Conf. Interval]
________________ _|_________________________________________________________________
yrs_on_ART_2013 | 1.587603 .129594¢6 12.25 0.000 1.333509 1.841696
_cons | 183.1414 1.142038 160.36 0.000 180.9022 185.3805

Bpebnke ooBevnc Betikn oUOXETION METKED ETTLTTEOWV
OALKNIGC XOANOTEPOANG Kot xpovou Anwnc ART (Pearson
r=0.208 p<0.001).

AvaAvon TaAtvédpounonc €OELEE OTL N EXTIUWMEVH (95%
A.E.) cv&non tng oAtkng xoAnorepoAng ntoev 1.59 (1.33-
.84) mg/dL yiox k@€ eToc cv&nong oro xpovo Anywnc ART




Chi-square (AIDS kot opoto
ueTO(SOGng)

AIDS (CDC C)

Risk group | No Yes | Total
___________ _|_______________________+__________
MSM | 1,322 258 | 1,580
| 1,302.1 277.9 | 1,580.0
| 83.67 16.33 | 100.00
___________ _|_______________________+__________
TVDU | 25 8 | 33
27.2 5.8 33.0 , .
: 7c ¢ 54 24 : 100.00 Bpeﬁm(el EVOELKTLKI (p’:0.059)
___________ b __ Olagpopo oTex TTooooTe HIV+
MSW | 626 155 | 781 XTOUWYV UE KALVIKO AIDS
| 643.7 137.3 | 781.0 UETKED TWV TPLWV OUXOWV
| 80.15 19.85 | 100.00 ,UET&”50077§.
___________ _|_______________________+__________
Total | 1,973 421 | 2,394
| 1,973.0 421.0 | 2,394.0
| 82.41 17.59 | 100.00
Pearson chi12(2) = 5.4843 Pr = 0.064

Fisher®"s exact = 0.059




Logistic regression (AIDS ~ Opxdoo
METXOOOTNC)

*log[Pr/(1-Pr)]=by+b,*X1+ ...

*log[Odds of AIDS]= by+b,*IVDU+b,*MSW
«exp(b,)=0dds Ratio of AIDS (IVDU vs. MSM)
«exp(b,)=0dds Ratio of AIDS (MSW vs. MSM)

Risk group
MSM* 1
IVDU 1.640 0.675 0.230 (0.731 to 3.676)
MSW 1.269 0.143 0.035 (1.017 to 1.582)

* Baseline category

H exTiuwuevn mlovornta aoverrrvéEng AIDS nrov
oavEnuevn kot 27% (95% A.E. 2%-58%) oe MSW oe
oxeon ue MSM (p=0.035)




Kaplan-Meier curves/Log-rank

AVXAULOT XPOVOU MEXPL LOAOYLKN XVTXTTOKPLON (dLxdpop€eEC xvx $UAO)

o Kaplan-Meier failure estimates Log-rank test for equality of

§ 1.00+ survivor functions

%- 0.90+

T 0.80 | Events Events

g’ 0.70 sex | observed expected

< 0.60- ’_l—‘ —————— +-———

"i 0,50 M | 168 173.08

= F | 25 19.92
0.40

- N — S

o 0.30+

o 0.20- Total | 193 193.00

z

T 0.101 ,

g chi2 (1) = 1.45

S 0.00+

o ’ % T . . Pr>chiz = 0.2281

analyszls time
Years since HAART initiation

sex=M sex=F




Cox model (MOVO/TTOAL-TTXPXYOVTLKO)

Covariate Haz. Ratio Std. Err. P>|z| 95% Conf. Interval
Sex

M* 1

F 1.293 0.277 0.231 (0.849 to 1.969)
Covariate Haz. Ratio Std. Err. P>|z| 95% Conf. Interval
Sex

M* 1

F 1.565 0.470 0.135 (0.870 to 2.818)
Risk grp

Homosexual 1.034 0.240 0.886 (0.656 to 1.630)

Heterosexual* 1

Drug user 0.109 0.111 0.030 (0.015 to 0.8006)

Haemophilia 1.634 0.508 0.114 (0.888 to 3.007)

Other 0.372 0.286 0.199 (0.083 to 1.680)
NAIVE prior to HAART

Yes/No 2.991 0.505 <0.001 (2.149 to 4.163)
Age at HAART

per 10 yrs 1.156 0.081 0.038 (1.008 to 1.327)
Baseline CD4

per 100 cells/uL 1.085 0.039 0.023 (1.011 to 1.164)

Baseline VL

0.077 0.001 (0.544 to 0.848)




EpwTtnon 6
Mpadnux 1 Mpaxpnuo 2

Kaplan-Meier survival estimates Kaplan-Meier failure estimates
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m——— drug =1 === drug =2 = drug =1 == drug=2
— drug=3 —— drug=3

° A) Ta ypadnuaTa 1 KXt 2 rivOVTXL VX ELVXL CUMPBXTX
UETO(EU TOUG KOXL OUMPXTX HE XTTOTEAETUXTX COX UOVTEAOU
TToU eKTLMX HR (2 vs. 1) = 0. 23 ket HR (3 vs. 1) = 0. 07

° B) Ta ypaxpnuato 1 kaxt 2 pXLVOVTL VX ELVXL CUMPBXTX
METXEL TOUC KL OVMPXTX HE XTTOTEAETUXTX COX HOVTEAOU
TToU EKTIMX HR (2 vs. 1) = T.4 ket HR (3 vs. 1) = 2.3

o [ T ypaxdpnuata 1 Kxt 2 0ev pXLVOVTHL VX ELVXL CUMPBXTX
METXEL TOULC




